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TOIYTAR I TSI § 24 T8 : @IS & N WIS G |

QS & H G&qH8 THR & T4 & STelle GUE @ H [d9IREF TP FHIHE |
fou T (6 + 18) = 24 41 4 @, IWHIGAR FI 3 T & HrEla (feIFHaT) G 4
(6+11)=1798HIHAE|

Tordlt 1391y U & 3t T4 1 Gat b8 § X 1 JITG 1T STHT =116T |
GUE & : TEHB THR & T4 (30 37,)

(a) SHEUEH 6997 |

(b) PI3 TFRIHF 3T 781 & |

(c) TRT T 59T & ST7aR HIfSTg |

(d) A% TY /9T % G- SATe1d 3] F1 et [BAT T8 |

QUG : fI9q9eF TR & T4 (30 37F) -

(a) SAEUSH 18958 |

(b) SFHIGEIR F1 11 JIFHE |

(c) Taug 339 & S7aR I |

(d) TAF I/ 9T % G- SATeld 371 1 el BT T2 |

QIS ®
(TEIS THR &F T27) (30 37R)

ST h1eTel T U T 6 s 1 9 fohegl 4 o ST ifvr | 4x1=4
(i) HaR § T AU aw (element) © Fifh I8 $6 ST

ST | Heg LT & for o Teendt 3 Gowr ot e forarm ® ot 1= |
(ii) foreht sarfeh st weh formiwar @ ST 9 G © foF o o o

Tehdl & 3T T8~ &1 Tehal B |
(iii) U YRR sl AN (motivation) & &k faw =g wm

TR T2l 7, T 370 il § SAfth 1 3THE ST Hars o1 o1 2t 2 |
(iv) frefalad § & H-91 TSI ATeast (Presentation software) TE T2

(A) MS PowerPoint (B) LibreOffice Impress

(C) LibreOffice Calc (D) Google Slides



General Instructions :

(i) Please read the instructions carefully.

(ii) This question paper consists of 24 questions in two Sections : Section A and
Section B.

(iii)  Section A has Objective type questions whereas Section B contains Subjective
type questions.

(iv)  Out of the given (6 + [8) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.

) All questions of a particular section must be attempted in the correct order.

(vi)  Section A : Objective Type Questions (30 marks) :

(a) This section has 6 questions.

(b) There is no negative marking.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

(vii)  Section B : Subjective Type Questions (30 marks) :

(a) This section has 18 questions.

(b) A candidate has to do 11 questions.

(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

Section A
(Objective Type Questions) (30 Marks)
1.  Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4
(1) is an important element in communication as it helps in

knowing whether the receiver has understood the message or not.

(11) is a quality of a person to think that one can get things done and
be happy.

(ii1) is a type of motivation for which there is no apparent reward but

one derives enjoyment and satisfaction in doing them.

(iv)  Which one of the following is not a presentation software ?
(A) MS PowerPoint (B) LibreOffice Impress
(C) LibreOffice Calc (D) Google Slides
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vy, T I8 ATk & foraw foredt stere =t Sezaqul s o fog
ST T ST shl IS Shich Uk T3 TR T shl ATIAT 2 |

(vi) Tsitar S fsfier ITfor a1 {91 (Community) & ST U 1Y
TEd © TR T qEL T HEdT A ¢ |

2. o 7w § 9 R 5 s AT | SxI1=5
(1) T relational model H relation 3T Ufth (row) Bl ohgl SITdT
2l
(ii)  ST&T FUEeR (Java compiler) STTET IS T  SFATE HLAT
gl
(A) Source code (B) Machine code
(C) Byte code (D) (A) 3R (B) g1

(iii) ﬁ?ﬁﬁTravelWW@W@'HW%lBﬁMySQLserveraﬁTG'aﬂﬁa?
1\?1? fF Travel SWEEH H YA M T statements H fRIT STHT %,
frefetRad § shiH-8 el ST TN AT ITRT 2

(A) USE Travel; (B) SHOW Travel;

(C) DESC Travel; (D) OPEN Travel;

(iv) Java ) program execution & S AT ‘3[% (unexpected error) @i
feerfott st srvrarqul & & yee R SR I fere o fog
Ueh IUFITT HorfsH 2 |

(v) Java T Variable #T 8 ?

(vi) NIC#HT 33 |

(A) National Informatics Centre =~ (B) National Indian Core

(C) National Information Centre (D) National Internet Centre
(vii) G T TS |

AT TAhYH SIAUHE THE (web application development process) &
&S ES! %S H B0 39 problem statement & 959 W 2 e f%rq web
application G fRITSIMAT 7 |
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(v) An is a person who has the capability to start an

organization by organizing various resources required to make an

opportunity purposeful.

(vi) is the community of living and non-living beings existing

together and supporting each other.

2.  Answer any 5 out of the given 7 questions. Sx1=5

(1) In a relational model, a row in a relation is called a

(i)  Java compiler translates Java code into
(A) Source code (B) Machine code
(C) Byte code (D) Both (A) and (B)
(iii) Rosy has created a database named Travel. Which of the following

commands should she use to specify to MySQL server that the Travel
database is to be used for further statements ?

(A) USE Travel; (B) SHOW Travel;
(C) DESC Travel; (D) OPEN Travel;
(iv) is a useful mechanism in Java for effectively identifying

and handling unexpected error situations during program execution.
(v)  What is Variable in Java ?

(vi)  NIC stands for
(A) National Informatics Centre (B) National Indian Core

(C) National Information Centre (D) National Internet Centre

(vil)  State True or False.
In Design Phase of web application development process, we identify the

problem statement for which the web application is to be developed.
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3. Tewww 7w # € Rl 6 ok S AT 6x1=6
(1) frefaRad o #I-971 T 3-Td9 (e-governance) oA § ?

(A) www.w3school.com (B) www.flipkart.com
(C) www.india.gov.in (D) www.bookmyshow.com

(i1))  Object-Oriented Programming Language & IR, Th
physical 3T logical entity & fores D attributes G

(A) Object (B) Method
(C) Class (D) Tuple

(i)  fomm Eﬁ'{'@ﬁ o ToRet attribute T values T 3@ % el SELECT clause %
T IS T TR forarT ST HehelT 2 |

(iv) 3-IE™ H S8l T8 T 3R ST Eid ©, J&1 Online Transactions 3hd A9
ik Rl IS el (precautions) ST MY | 1§ Teh UH Graemt

(precaution) fafau |

(v) T=faRea @ #19-91 w RDBMS software 781 € 2
(A) MySQL (B) Oracle
(C) MS Excel (D) DB2

(vi)  Web application project st I3 U fIIwaT (characteristic) TS |
(vii) Tr=ffaa & 4 w901 Java T T looping statement 27

(A) switch (B) for
(C) if (D) main
4.  feumu ¢ g o @ foredi 5 s AT 5x1=5

(1) frfafad & w1 3-dag (e-governance) <hT 33TaL0T TET 2
(A) ‘3{\-34{ AT (Land record) o T
(B) UTEUIE & oAU A1ae shiT
(C) ToIUshTe & 13 7T Migae Tiean
(D) HdRTdl 98T 9 (Voter ID Card) ST SRaHT
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3.  Answer any 6 out of the given 7 questions. 6x1=6

(1) Which one of the following is an e-governance portal ?
(A) www.w3school.com (B) www.flipkart.com
(C) www.india.gov.in (D) www.bookmyshow.com
(1))  According to Object-Oriented Programming Language, a/an isa

physical or logical entity that has certain attributes.

(A) Object (B) Method
(C) Class (D) Tuple
(iii) keyword along with SELECT clause can be used to view the

values of an attribute without repetition.

(iv)  While there are obvious e-business advantages and opportunities, there are
certain precautions that one should take while performing online

transactions. Write any one such precaution.

(v)  Which one of the following is not an RDBMS software ?
(A) MySQL (B) Oracle
(C) MS Excel (D) DB2

(vi)  Give any one characteristic of a web application project.

(vii)  Which of the following is a looping statement in Java ?

(A) switch (B) for
C) if (D) main
4.  Answer any 5 out of the given 6 questions. Sx1=5
(1) Which of the following is not an example of e-Governance ?

(A) To search land records

(B) To apply for passport

(C) To buy a new product from Flipkart
(D) To get Voters ID card issued
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(ii)

(iii)

(iv)

(vi)

LEcED SubjectCode (integer) AR SubjectName (CHAR(15))
— attributes 3 T Teh TROT (table), School FARH | SubjectCode &l
value 301 3R SubjectName English % @Y U& Ufh (row) insert

o T FAfTRad # & Si9-a1 FAiE T2l © 2

(A) INSERT (301, ‘English’) INTO School;

(B) INSERT VALUES (301, ‘English’) INTO School;
(C) INSERT INTO School VALUES (301, ‘English’);

(D) ADD ROW School VALUES (301, ‘English’);

Web application development process % forg et o IS afh TllhyH &
gl bugs ! foherer sHT Tl & 3T modified code T validate X HhdT & 2

(A) Requirement and definition phase
(B) Design phase

(C) Implementation phase

(D) Testing phase

Java® Array class T Ugfd (method) T JINT SRS 570
(ascending order) T array of integers T afeerd i I foham Srar 2 |

SQL H LIKE aﬁa@‘%w%ﬁ@&aﬁﬁﬁawﬁww (zero) AT random
characters sl 31f&Ieh GE&AT % Faet Tehd (symbol) 3T T
foRaT ST 2 |

Java T Ffarfiad § #19-8 method of class String hl TN String object

T TS ITH S | foRaT ST R 2
(A) get() (B) sizeof()

(C) 1length() (D) 1len()



(1)  Rimit has created a table, School with attributes — SubjectCode
(integer) and SubjectName (CHAR(15). Which of the following is
the correct command to insert a row with value of SubjectCode as 301 and

SubjectName as English ?

(A) INSERT (301, ‘English’) INTO School;

(B) INSERT VALUES (301, ‘English’) INTO School;
(©) INSERT INTO School VALUES (301, ‘English’);

(D) ADD ROW School VALUES (301, ‘English’);

(1)  In which phase of web application development process, can one fix all the

bugs and validate the modified code of the application ?
(A) Requirement and definition phase

(B) Design phase

(C) Implementation phase

(D) Testing phase

(iv) The method of Array class in Java is used to arrange an array

of integers in ascending order.

(v)  In SQL, symbol replaces zero or more number of random

characters while matching a pattern with LIKE keyword.
(vi)  Which of the following method of class String in Java is used to obtain
length of a String object ?
(A) get() (B) sizeof()
(C) 1length() (D) 1len()

326/S 9 P.T.O.



5. feuwwu 6w 0 @ foRdl 5 % sav ifso | Sx1=5

() AT W S guy, fhet safth & e 3% forered (option) BT & fof o=
At A Y ST Wieae ht feefiart fou mu ffthr od ot &1 g | 36 forg 3@
shopping website & Payments page 9 forshed =T =T AT
=R |

(i) &2 I ITeId Jd18Y |
T relational model H fRET relation o IS & tuples T TUT (identical) &Y
T TR L |

(iii) SQL T, 3 * ‘Hospital’’ ATH I | (table) & T+t TR (columns)
A Tt dfemat (rows) %I FH JEiid Fd & 2

(A) SELECT * FROM Hospital;

(B) SELECT Hospital;
(C) SELECT *. Hospital;
(D) SELECT [all] FROM Hospital;

(iv) & # 3 ar e R sifesiecd H SIS (concatenate) % foTT
SHTORET <hT TR fohalT ST TehalT 2 |

(v) IJVM T 3fR |

(A) Java Varied Machine
(B) Java Virtual Machine
(C) Java Variable Mode
(D) Java Virtual Mode

(vi) == fGT T Java Code snippet ahT SATIY T BT 2
int = 30;

a
int b = 10;

a - b;

System.out.println(a) ;
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5.  Answer any 5 out of the given 6 questions. SxI=5

(i)  While shopping online, one has the option to make the payment only when
the product is delivered at the given shipping address. For this, one must

select option on Payments page of the shopping website.

(1))  State True or False.

In a relational model, no two tuples in a relation can be identical.
(i)  With SQL, how do you display all the columns and all the rows from a table
named “Hospital” ?
(A) SELECT * FROM Hospital;
(B) SELECT Hospital;
(©) SELECT *. Hospital;
(D) SELECT [all] FROM Hospital;
(iv) operator can be used to concatenate two or more String objects
in Java.
(v)  JVM stands for
(A) Java Varied Machine
(B) Java Virtual Machine
(C) Java Variable Mode
(D) Java Virtual Mode

(vi)  What will be the output of Java Code snippet given below ?

int a = 30;
int b = 10;
a - =D>b;

System.out.println(a) ;

326/S 11 P.T.O.



6. Touwu 6w W forel 5 o S AT | 5x1=5

) T4 H, 39k S FHEITH HT HeAToh i H T, FHh! body H
block of code =T FI™dTET (execute) foRaT ST 2 |
(A) while (B) do while
(C) for (D) switch

(i) &2 I ITeAd Fd18Y |
STET TTHT 8, Ueh Fmd ot a1l i curly braces o $fidt UaedlsT (enclose)

IERIEINIE
(iii) TR ZRT ATTNGRT o foeTg e 2 ICT tools T ST |
(iv)  SQL T BIIRTET T JAN variable length character
string%%ﬁﬁh‘ﬂﬂ'ﬁ%l
(v) T=fefaa @ ®=-a1 SQL # Wk Boolean operator & 8 2
(A) AND (B) FROM
(©) OR (D) NOT
(vi) YR GTHR AT IUASH T3 T3 AHTEE www. ircte.co.in fF SR &
oI ST 7 TS STt 2 9
Qus ™
(Fererromer TR & Wa) (30 37R)
USTTR 19T W QU 7T 5 9471 4 @ fhel 3 & ST T | IA% I &1 I 20 — 30 31581 §
3T | 3x2=6
7. O IR SR I T R 2 2

8. AT -aTeIdT SAfhed R (Obsessive Compulsive Personality Disorder) ¥

ifea safth it 1S a1 ferrwand ferfa | 2
9.  IfiT iR T (Green Collar Worker) 198 ? &S T 3&TeL0T &Y | 2
10. A% ITH IS T FIRyaTd sarsy | 2
1. TISie W9 § qeheeh SN Toheiie o sier 3T sy | 2
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Answer any § out of the given 6 questions.

(i)

(ii)

(iif)

(iv)

(v)

(vi)

In a loop, block of code in its body, is executed before

evaluating the test condition.
(A) while (B)  do while
(C) for (D)  switch

State True or False.

In Java programming, the body of a class is enclosed within curly braces.

is the use of ICT tools for governance by the government for

the citizens.
datatype in SQL is used for variable length character string.
Which of the following is not a Boolean operator in SQL ?
(A) AND (B) FROM
(C) OR (D) NOT

For what purpose the website www.irctc.co.in, provided by

Government of India is used ?

Section B

SxI=5

(Subjective Type Questions) (30 Marks)

Answer any 3 out of the given 5 questions on Employability Skills. Answer each question

in 20 — 30 words.

7.

8.

9.

10.

11.

What do you mean by simple and complex sentence ?

Write any two characteristics of a person who is suffering from Obsessive

Compulsive Personality Disorder. 2
Who is a green collar worker ? Give any two examples. 2
State any two qualities of a successful entrepreneur. 2
Differentiate between workbook and worksheet in spreadsheet software. 2
13 P.T.O.
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13U 7T 5 941 9 @ fahea] 3 3 I 20 — 30 I1ea1 (Iedah) 1 gHforT | 3x2=6

12. Ffefad e w1 steeqe i : 2
class Modulus
{
public static void main(String[]args) {
int a = 75;
System.out.println("a mod 10 =" +a%10);
System.out.println("a div 10 =" +a/10);
}
}
13.  STATH 9 S o &l atieh folfa | 2
14. 9¥d 7 SRTSE “SUPERMARKET” ¥ 291 PRODUCT d9R I © | 394t =T %
YR R Ffalad s & fow SQL ts foifge 1+1
(@)  HeRH HISE @il STeTerdl ol geft o |
(b)  &A PRODUCT ! HTHT (structure) AT |
15. OHH QF 1 ST TRyl o %18 & T fafa | 2
16. DML =l foream o ferfau ot sweht aftmsr s | 618 3t DML sFaie fefiae | 1+1
feu 71w 3 341 4 @ faheg] 2 % 3T 30 — 50 97581 (Ie4%) F 2o | 2x3=6
17.  STATH Wrapper class =T &7 37 8 2

326/S

ﬁ%ﬁqw@eﬁzq%integer value, 100@?%@%%@@(%3@9@?&@%

fFMWrapper classes ST ST HII 2 | <~¢¢H’¢q§rew %&Qﬁ?ﬁ@ﬁaﬁﬂﬁql 3
Integer num = (100) ;
System.out.println ( ),
14



Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6

12. Give the output of the following code : 2
class Modulus
{
public static void main(String[]args) {
int a = 75;
System.out.println("a mod 10 =" +a%10) ;
System.out.println("a div 10 =" +a/10);
}
}
13. Write the two ways of creating a thread in Java. 2
14. Vaibhav has created the Table PRODUCT in database “SUPERMARKET”. Based on
the above information, write the SQL command to do the following : 1+1
(a) View list of all databases that exist on the server.
(b)  View the structure of the table, PRODUCT.
15. Write any two uses of database applications in the Government Sector. 2
16. Expand and define DML. Write any two DML commands. 1+1
Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6
17. What do you mean by Wrapper class in Java ?

The statements given below use Wrapper class to store an integer value, 100 and

then display it. Fill in the blanks to complete the statements. 3
Integer num = (100) ;
System.out.println ( ),

326/S 15 P.T.O.



18.

19.

feU 77T 5 941 4 @ faheg] 3 941 & I 50 — 80 F7sa1 (I3%) T GHIT |

20.

21.

326/S

(a)

(b)

3fidel ¥ MySQL H TID, Name, Age, 3 DOB — attributes & HTY Ueh d&icd
Teacher IR & 2 | &S insert Fd THT I8 DOB I aq(value) specify
foru formm =i dfth (row) insert &Y T T TET & | THT AT WITIT FHROT &€ 2 TIE
@'%TQ f% DEFAULT constraint U U <l HHTHATT FH T FY GEEAr
THAT 2 |

S 37 AT, FSehT TR &1aTS T TS €, % AW YaRI O o g o
Travel o Tt fEfIRad query & 8, @ifeh a8 38 fsaTiad (execute) T &
Wﬂﬁf@%lwaﬁ(enor)aﬁﬁaﬁﬁ%aﬁﬂﬁquew%ml

Select Name, From Travel where Age = 'NULL';

Biedl | Seey BASHE fEeh o Tl sl T hiforT |

(a)

(b)
(a)
(b)

frefetfiad Teehe I foem Fifs
String myString = “My First Program” ;
fFrefafad =1 Jes & foe String methods <hT TR BT single line

Java code %’@E

(1) mys trlngﬁ lowercase H s o foTT |

(i1) DESICERC A ED mystrlngff “gram” TATT |

(1i1) original string % 3 T new string “is complete” e & T |

W%WﬁAnayW(tem)EﬁQﬁWaﬁql

Teh variable aﬁﬁa%ﬁ%maﬁéﬁﬁmw |
it T4 TTT g AT SATSTYE STET -

public class series {
public static void main (String[ J]args)
{
int num = 5 ;
do {
System.out.println (num + 2) ;
-- num ;
}while (num > = 2) ;
}}
16
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18. (a) Sheetal has created a table Teacher in MySQL with attributes — TID,
Name, Age, and DOB. While inserting records, she is not able to insert any
row without specifying the value of DOB ? What is the possible reason for
this ? Explain how DEFAULT constraint can help to solve this problem.

(b) Jatin has given the following query for the table Travel to display the
names of customers whose age is not specified, but he is unable to execute it

successfully. Write the correct query after rectifying the error.

Select Name, From Travel where Age = ‘NULL’ ; 2+1
19. Explain the application of database management systems in hotels. 3
Answer any 3 out of the given 5 questions in 50 — 80 words each. 3x4=12

20. (a) Consider the statement :
String mystring = “My First Program” ;
Write a single line Java code using String methods to perform the
following :
(1) Convertmystring to lowercase.
(i1)) Check whether the mystring contains “gram” in it or not.

(1) Addanew string “is complete” at the end of original string.

(b)  Define the term Array with respect to Java. 3+1

21. (a) Write any two rules for declaring a variable. 2+2

(b)  Predict the output of the code given below :

public class series {

public static void main (String[ ]args)

{
int num = 5 ;
do {
System.out.println (num + 2) ;
-- num ;
}while (num > = 2) ;
}}

326/S 17 P.T.O.



22. (a) dfSMT (webinar) FTE 2
(b)  Online tutorials ¥ STAT T FIT ATH & 2 IS & AT TS |
() CERC IR RUTIENE] (web-based application) ST 297 1+2+1
23. (a) SETH HTILGET (methods) & 2
(b) T user defined method fIRET ST a1 HEAT3Y T UGS (product) It & | 1+3
24. 9 table ACTIVITY %l UfeT 3R = fa€ 7TQ weAt a1 I EITT I+1+1+1
Acode | Activity Name | Stadium Participants | Prize Schedule Date
Number Money —
101 | Relay 100 x 4 | So2F 16 10000 | 23-Jan-2005
Annex
. . Star
102 High jump Annex 10 12000 12-Dec-2003
103 | Shot Put Super |, 6000 14-Feb-2004
Power
Star
105 Long Jump Annex 12 10000 01-Jan-2004
108 | Discus Throw | 2UPeX |19 15000 | 19-March-2004
Power
(a) &t I CRIGICIER] (activities) <hT TR A (descending order) T I Fis
Tfga T Jef¥id & o fie th SQL query faifa |
(b) Tl TSI T STATT-3TlT @t T, WA (Activities) & fTT Prize Money b1
Sirg gefitd s & ol Tk SQL query fafaw |
(c) Shot Put W& Activity % fTT Prize Money 1000 g & foTt T SQL
query fafaw |
(d) ﬁ'ﬂ%‘f’@ﬁquerries%%"{wa“éQ :
SELECT MIN (Prize_Money) FROM ACTIVITY ;
326/S 18




22. (a) What is webinar ?
(b) How do online tutorials benefit the students ? Give any two benefits.
(c) What is a web-based application ? 1+2+1
23. (a) What are methods in Java ?
(b)  Write a user defined method that returns product of two numbers. 1+3
24. Consider the following table ACTIVITY and answer the following : 1+1+1+1
Acode | Activity Name | Stadium Participants_| Prize Schedule Date
Number Money —
Star
101 Relay 100 x 4 16 10000 23-Jan-2005
Annex
. . Star
102 High jump Annex 10 12000 12-Dec-2003
103 | Shot Put Super | 4, 6000 14-Feb-2004
Power
105 | Long Jump Star 12 10000 01-Jan-2004
Annex
108 | Discus Throw | SUPeT | 1g 15000 | 19-March-2004
Power
(a)  Write an SQL query to display the names of all activities with their Acodes
in descending order.
(b)  Write an SQL query to display sum of Prize Money for the Activities played
in each Stadium separately.
(c)  Write an SQL query to increase the prize money by 1000 for Activity
named Shot Put.
(d)  Give output for the following query :

326/S

SELECT MIN (Prize Money) FROM ACTIVITY ;
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